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1. What is child labour? Write the Act abolishing Child labour in India. 3+7=10
2. Write the JJ Act 2015. Why is it important for children? 7+3=10
3. How women are vulnerable in Conflict area? Illustrate your answer with 4+6=10

suitable examples.

4. What is domestic violence against women? Write the Protection of Women 3+7=10
from Domestic Violence Act 2005 in short.

5. Write short notes on POCSO and CEDAW 5+5=10

6. Write short notes on Economic Empowerment of Women in India and Child 5+5=10
Budgeting

7. How children are affected in conflict areas? Why children are vulnerable? 4+3+3=10

- Suggest various measures to protect children.

8. How youth are falling prey to substance abuse? What are the various ways 5+5=10
social workers can work with youth?

e



REV-00
BSW/21/26
BSW
SEMESTER-3%"
WORKING WITH WEAKER SECTIONS-I (WOMEN, CHILDREN AND YOUTH)
BSW-304
[ PART-A : Objective |

LChoose_the correct answer from the following : 1X20=20
1. Juvenile Justice (Care and Protection) Act came in the year

a 2000

b 2001

¢ 2003

d 2010

2. Equal Remuneration Act came in the year
a 1945
b 1955
¢ 1966
d 1976

3. Dowry Prohibition Act punishes
a The party who is demanding dowry
b The party who is paying the dowry
¢ Both and a and b are punishable
d None of the above

4. The Third Five Year plan emphasized on
a Health
b Education
¢ Self Help Group
d All of the above

5. The Government of India has declared
a 2000
b 2001
¢ 2005
d 2015

as Women’s Empowerment Year.

6. Swa-Shakti is for
a Political
b Economic
¢ Health
d All of the above.

empowerment of women in India.

10.

11.

12.

13.

14.

CEDAW stands for
a Convention on the Elimination of all Forms of Discrimination Against Women
b Convention on the Education, Development and Advancement of Women
¢ Center for Education and Development of All Women
d None of the above

The protection officer plays an important role in the following act
a Maternity Benefit Act
b MTP Act
¢ Dowry Prohibition Act
d The Protection of Women from Domestic Violence Act

The Convention on the Rights of the Child are required to undertake all appropriate national,
bilateral and multilateral measures to prevent--

a the inducement or coercion of a child to engage in any unlawful sexual activity;

b the exploitative use of children in prostitution or other unlawful sexual practices;

¢ the exploitative use of children in pornographic performances and materials

d All of the above

1. Investment on children can be measured by expenditure on child specified schemes.
2. Investment on Children can be measure by wider social sector analysis.

a Statement 1 is correct

b Statement 2 is correct

¢ Both 1 and 2 are correct

d Both 1 and 2 are wrong

CRC stands for
a Children’s Rights Convention
b Convention for the Children
¢ Convention on the Rights of the Child
d None of the above

Commissions for Protection of the Rights of the Child was established in the year
a 2003
b 2005
¢ 2007
d 2009

The total share of child protection in the Union Budget
for 2005-06 was just------

a 0.034 per cent

b 0.035

¢ 0.043

d 0.045

The role of a social worker while working with weaker sections are
a Problem solving
b Task centered
¢ Solution focused
d All of the above




15.

16.

17.

18.

19.

20.

Conflict can affect children in terms of their
a Mental well being
b Education
¢ Health
d All of the above

Right to Education Act was passed in the year
a 1987
b 1997
¢ 2007
d 2009

SHG stands for
a Self Help Group
b Safe Housing for Girls
¢ Safe Housing for Girl Child
d None of the above

Protection of Children from Sexual Offences Act was passed in
a 1987
b 1999
¢ 2000
d 2012

1. The Maternity Benefit Amendment Act extends 12 weeks of maternity leave to Adoptive
mother.
2. The Maternity Benefit Amendment Act has increased the duration of paid maternity leave to
26 weeks.

a Statement 1 is correct

b Statement 2 is correct

¢ Both 1 and 2 are correct

d Both 1 and 2 are wrong

According to CRC a child means every human being below the age of
a 18 years
b 16 years
¢ 14 years
d None of the above
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¢ TInstructions / Guidelines

..........

» The paper contains twenty (20) / ten (10) questions.

» Students shall tick (v') the correct answer.

» No marks shall be given for overwrite / erasing.

» Students have to submit the Objective Part (Part-A) to the invigilator just after

completion of the allotted time from the starting of examination.
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